ACCOUNTING AND FINANCE
Second Paper : Financial Accounting and Decision-Making

Time allowed : Three hours ~ Maxintum Marks 100
: Part-A ‘P4
L Give objectives of preparing Departmental Aecounts.
RANT Y TR FRA P S5 agd )
2 Explain Cash in transit and Goods in transit.
A7t 3 RS g 4 F AR B IAE Dl |

What do you mean by ‘Cunt<intérést Purchases and Sale' of securities?

gl @ T AR ve, APa’ ¥ MY TG1 WS &7
Give any two distinctions between 'Absorption costing' and Mar-
1 ing' Systems. -
- gmwndcozréﬁy%aﬁmmﬁﬁﬁmﬁawm,

5. What doyou ufiderstand by Economic Value Added? -
i N A & & 1 WA 87

6 Describethe meaning of Market Value Added?
IR T ag o el At &7 TR |

Scanned by CamScanner




>3

8. Define Performance Budgeting. eI qore @1 aR#IfSa @ﬁﬁ I
9. What are the Adverse Variances? SRige RFRu @ 2?7
10.  What do you understand by 'Activity Based Costing?/ |
Ry STeRE T SrEiE W T T A €7
Part-B
11.  Devendra Ltd. has three Departments. Purchases were made asfollows:
Department X 4,000 units; Department Y 8,000 units;
Department Z 9,600 units at a cost of Rs. 4,00,000.
Calculate cost price per unit for each Department:
Sz 1. & G B9 ¥ 1598 P9 T YR &
AWAT X 4,000 BT RAM Y 8,00 0-FrAr; {Hwm Z 9,600
g@IEaT 4,00,000 5. AFK W ' .
\ X Y /4
e e IR TR 2. $.80 .90 ®.100
ufaa?ﬁqma%%vuﬁlsﬁlém’@ﬁrma%ml
12.  Distinguish between Fixed.Income Investment and Fluctuating In-
come Investment. | |
| <o s RfER AR oI R 3 o T B |
13.  ThesummarisedProfit and Loss Account of Naman Ltd. for the year
ended 31(Marelt, 2016 was as:
a Rs.
"« Sales,, - | ' 1,30,00,000
Less- Cost of goods sold ' © 84,00.000
Gross profit | 46,00,000
Less : Office, sellingand <
distribution €xpenses 24.00,000
Net profit before Interest and Tax 22,00,000.
Less : Interest expenses 3.60.000
Net profit before Tax 18,40,000
Less : Income Tax - 7,60,000
Net profit after Tax | ' 10,80,000
Add ; Non-Trading Income 1,80,000
Profit available for Distribution : 12,60,000
Dividend paid and Payable 4,20,000
Analysis of cost of good sold .

| e
- What is meant by Cash Budget? Name the methods of preparing .’

Cash Budget. .

"mm'@rmm%?mmmﬁaﬁﬁﬁlﬁml/
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Material and supplies . 40%

Wages | 50%
Depreciation - 4%
Electricity 6%
Analysis of office, selling and

distribution expenses : _

Salaries o 60%
Postage, Printing and Stationary » 15%
Rent. Electricity and Insurance . 20%
Depreciation 5%

Prepare a value Added Statement for the year ended 31st March,
2016.
Wﬁﬁ&mmm—aﬁm(sl urd, 204 6 a?rwaﬁ

@ fom) 39 PR AT -

) .
fasa - ~1,30,00,000
Her - Rdhia A1 & dr| : 84,00,000
P A |  46,00,000
T[T : mﬁaﬁmaﬁwm S ' 24,00,000
ool 93X Q@ @ gg A 22,00,000
HerT S g | | 3,60,000
w @ gg A -. 18,40,000
HeHT : A TR A " 7.60,000
Y uTar] Ig | . 10,880,000
Srer : IR-ANRS oA | ~1,80,000
ﬁa:\'UT$WW?IW * 12,60,000
S g gl @E . 4,20,000

= A we & An o fAveer . = |

40 vfaeE
G vd gfd |
oy | 50 wfiee
e ' 4 gfyea
%Zla&'m ' 6 wfdwE
st 1 faeemor, R T e =y
PO : 60 i«
<, o T Rl | | 1 5 fiea
fp=ar, Ao AR @ 20 wiRm
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14.  PrepareaFlexible Budget for Production at 80%and 100% activity on
the basis of the following informations:

Production at 50% capacity - 5,000 units
Raw material " Rs. 80/- prt unit
Direct labour *Rs. 50/- per umit
Expenses Rs. 15/- pér unit
Factory expenses Rs. 50,000 (50% variable)
Administration expenses Rs. 60,000 (60% variable)
frfoea JERI & MER W 80 YRR v 100 TRverd ST
R R (& AEeR goic Y
50 e & IR SAIEA )" 5,000 Sl
Hed] AR . b /. 80/ U T8
e ™ %. 50/- 9Ri gBIE
T B, | 15/— iy TR
HRET I /IN%. 50,000 (50 FRRI ReR)
weeRE @ . %. 60,000 (60 TR gRadEIa)
15. Explain the concept of Zero Base Budgeting: :
I SR Soe G JHERN P T | T
' Part-C

16. Bikaner Handicraft ha branch at Agra. The goods are supplied to the
| branch at edstplus 20% on cost. You are asked to find out the branch
profit'or lass by stock and debtors method from the particulars given

below and also to prepare the branch a/c:

Rs.

Sales (Ificluding cash sales Rs. 52,200) 63,008
Goods sent to branch 57.000
Expenses paid by HO. * Rs. :

Salaries » 3,000

Taxes . 1,000

Wages 640

Rent | 640 5280
Opening Balance::

Stock . 9000 -

Debtors 6000 15000
Discount allowed by Branch 600

Scanned by CamScanner



Cash received from Debtors | 15000
Returns by Customers - . ‘ 300
. Goods damaged (Normal) . 150

TR TR & v T AR X, O 3 A A G 20
GieT SIS A9 W ¥ W69 997 S8R RS grr A=l

a9l J WIRET B ATH 37T B S P ®.
- Reht (FF= A 52,200 . BT M B 5T) 63,000

TG Bl q1e Aol | 57,000

T BRI g 75 T 47 w.

qa- 3000

34 1000

o 640

T 640 5,280

URYS I : . }

&g 9,000

TIeR 6000 15,000

T gIRT eI 1an 91 A _ 600

ISR 9§ YT SRR : . 15000

Yed gIRT 99T ' ‘300

gfer R A1 (HTY) | - 150

v o

thit is 'consequential Loss Policy’? What factors do influence the -
ascertainmeiit.0f claim under this policy? |
R 2R 9T 99T £? 39 UIRRN @ S=rla <19 @) IR fgiRa
R AT P TP THIRET B &7 -

Unit-II ' '
Following figures relate to Mohit Ltd. for the year 2015:

Rs.
Fixed factory overhead 4,00,000
Fixed selling and distribution overhead 2,00,000
Variable cost per unit 12
Selling price per unit o 2
-Calculate : |

(@ Break-even point in units
@) Units to be sold during a year to earn a traget net profit Rs. 5,000

per month.
(i) Number of units to earn a net profit of 25% on cost.
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" (iv) Selliigprice per units if 'Break-Even Point' is to be brought down

by 15,000 units. :

(v) Selling price to earn a profit of 20% on sales by selling only
50,000 units

Frafifas 5@ a5 201 5 @ R AR Rifks 3 TR A & :

.
R SREFT SIRIY 400000
IR fasg a1 fJaxor SuReqy o 200000
uRad=eiel @ Ui ST [ 2
fawa = i T | - 20

S DI

() w-fede g s ¥

@ 5,000 ﬁ.mﬁmmﬁ@wﬁﬁﬁmﬁa@mﬁ

(i) T 25 uﬁmgammﬁ%gwqéﬁﬁaﬁm%ﬁﬁl

(iv) ga-feds g @1 15000 AL B T ¥ U THE
g g |

() 50,000 SHTE ¥aEE R 20 IR T T G A

faspa U | ~(
//Q.

What do you understaﬂ/by Value Added Statement? Give its advan-
tage and uses. | _ .

Wéﬂﬂﬁw@lmmmmﬁwmﬁl

2 Unit -1
Afactory i$"engaged in producing a product using two grades of
Material X and Y mixed in the ratio of 3 : 2: The standard price of
matérial X is Rs. 6 per ton and that of Y Rs. 5 per ton. Normal loss in
production is estimated at 10%. The actual result were as follows:

Material X 280 tons at Rs. 5 per ton g
Material Y 120 tons at Rs. 6 perton |
Actual production was 351 tons -

" On the basis of above information, you are required to calculate ma-

terial variances.

_w'aﬂumwaﬁa%wmﬁa‘rmaﬁmme&zﬁ

% o7 3 oraT ¥ 1 RN @1 WY I X @ Rig 6 w9 i ST
<o Y & R 5 ST 9 o ¥ SERA § W &4 10 Fiew
agmﬁa%lamﬁanrﬁmﬁww%: -
i X 280 A R ®. 5 ¥ia e
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qRIfdd SAEH 351 7 &1 .
I IR & MR UR, 391 ARl Rarvil & T10M1 &0 &

' Or
Manish Ltd. has a production department in which three products A-
1, A-2 and A-3 are produced. The total overhead cost of the depart-
ment is Rs. 15,500 and is allocated on the basis of direct labour hours -

other data are gives below:
Product Quantity Amount Cost Driver
hour per unit labour hour
A-1 100 units 1 hour 100
A-2 200 umits 3 hours 600
A-3 800 units 3 hours 2400
3100

The firm now wants to adopt the Activity Based, Costing system for
which the different activities of the departmerit bave been classified

as follows: .
Activity  + Amount Cost Driver
Material handing 3150 No. of parts
Set up costs 4200 No. of production run
Other variable costs 3100 Labour hours
Quality control 3050 No. of inspections
15,500 '

The activity data for products A-1, A-2, A-3 are given below:
Particulars | | | Product Total

' - AA A2 A-3
Units . - 100 200 800 1,100
No. of production run 2 3 2 7
No.(of parts per unit 4 8 9 21
No. of mspchons 4 7 9 20
Compute the per unit cost (1) Under Tradltlonal Costing System (ii)
Under ABC system.

ﬁﬁaﬁwﬁmﬁam 7 1 o TR iR
# el SIREI AFME 15,500 9. %mmamwaa%maﬁw‘

wmtlmwm%

S A wWeed @

L ST gUe
A-1 . 100 @Al 1 HUT 100
A2 200 PGl 3 HE 600
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A-3 800 SHIZAT 3 Hue 2400

3100

Y AT AT MR AN GBS YT wIee & | $9 &g
e &1 = wfafaferlt &1 ifexu fRegaR fegr T

Tfafaty I . SR gIgaY

IRl ERE 3150. ocy & JE&l

I AT 4200 SAE BRI BT TS

I ARaT I @F . 3100 FH T

T g 5050 el &1 &

15,500

SR A-1, A-2 T A-3'9 Rerraiiifafyy s T & i s

IEERU| ERICH T
v Al A2 A3

ELZEL IS 100 200 800 1100

I BB TS 2 3 2 7

i &PE A & &1 4 8 9 21

Tl & S 4 7 9 20

_mmmﬁmu)wmamﬁmam(n)m
SR TGP (Al & el |
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